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PREVIEW QUESTION BANK
Module Name : cec24-ed03 Child development B.ED-ENG
Exam Date : 18-May-2024 Batch : 09:00-12:00
Sr. | Client Question . . Negative
No. D Question Body and Alternatives Marks Marks
Objective Question
1 14311001 2.00.00
The Flynn effect is named after Flynn, who contributed significantly to its documentation and raised awareness

of its implications.

1. George Simmel
2 James R.

3. Marilyn Gowing
4 Max Weber
Al:1

A2:2

A3:3

A4:4

Objective Question

2 14311002 2.0 0.00
Identify the appropriate research instrument for gathering information from respondents

1. Evolution

2. Inspection

3. Questionnaire
4. Survey

Al:1

A2:2

A3:3

Ad:4

Objective Question
3 14311003 2.0/0.00
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Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).

Assertion (A) - In the late 1960s, researcher Arthur Jensen stirred controversy by proposing that ethnic differences in
intelligence are due to heredity.

Reason (R) : Genetic factors never played a significant role in shaping intelligence, leading to debates and discussions on
the controversial topics during that time.

Given the above statements, choose the correct answer from the options below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2 Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) i1s false.
4 (A) is false but (R) Is true.
Al:1
A2:2
A3:3
A4 4
Objective Question

4 14311004 2.0/0.00

How does the involvement of trained interviewers, visiting people to collect questionnaire data, align with the framework's
principles and methods?

1. Face-to-face interviews

2 Telephone interviews

3. Computer Assisted Telephone Interviewing
4 Computer Assisted Personal Inferviewing
Al:1

A2:2

A3:3

Ad:4

Objective Question
5 14311005 2.0/0.00
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Match List-l with List-ll

810_16_S1_cec24_ed03_1-50.html

List-l

List-l

Psychosexual Stage

Key Focus

(A).Oral Stage

(). Pleasure shifts to bowel and bladder control

(B).Phallic Stage

(11). Maturation of sexual interests

(C). Anal Stage

(11l). Pleasure centers on the mouth

(D). Genital Stage

(IV).Pleasure zone is the genitals

Choose the correct answer from the options given below:

1.(A)- (1), (B)- (1), (C)
2.(A)- (), (B) - (1), (C)
3.(A)-(, (B) - (1N, (C)

-(Im, (D) - (av)

-(Im, (D) - (av)

-{IV), (D) - {11y
I

4. (A) - (1), (B) - (1IV), (C) - (1), (D) - (IN)

Al:1

A2:2

A3:3

Ad:4

Objective Question
6 14311006

Given below are two statements:

Statement (1) Human development, encompassing various dimensions such as cognitive, emotional, and social growth, is

intricately linked to the unique socio-cultural environment in which it unfolds.

Statement (1) The socio-cultural environment profoundly influences human development by shaping cognitive processes,

emotional experiences, social interactions, and identity formation

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (I) and Statement () are incorrect.
3. Statement (1) is correct but Statement (Il) is incorrect.
4 Statement (1) is incorrect but Statement (l1) is correct.

Al:1

A2:2

A3:3

Ad:4
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Objective Question

7 14311007

The emphasizes developmental change throughout adulthood as well as childhood.

(A). Educational approach
(B). Life-span approach
{C). Traditional approach

(D). Modern approach

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A) only.

3. (B) and (D) only.
4.(B) only.

Al:1

A2:2

A3:3

Ad:4

Objective Question

8 14311008

Match List-l with List-ll

810_16_S1_cec24_ed03_1-50.html

List-l

List-ll

Stages of child development

Age Range

(A). Early Childhood

(1. 20 to 40 years

(B). Adulthood

(I1}. 2 to 6 years

(C). Middle Childhood

(I, 7 to 11 years

(D). Infancy

(IV). 0 to 2 years

Choose the correct answer from the options given below:

1 (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2.(A) - (1), (B) - (1), (C) - (), (D) - (V)
3. (A) - (1), (B) - (IN), (C) - (IV), (D) - (1lT)
4. (A) - (In), (B) - (IV), (C) - (1), (D) - (IN)
Al:l
A2:2
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A3:3

Ad:4

Objective Question
9 14311009 2.0 0.00

The term used for the developmental stage of a fertilized egg, is known as

1. follicles

2. zygote

3. corpus luteum
4_embryo

Al:1
A2:2
A3:3
A4 :4

Objective Question
1014311010 2.00.00

The mass of cells iIs now known as a/an

1. Corpus luteum
2 Follicles

3. Embryo

4 Zygote

Al:1
A2:2
A3:3
A4 :4

Objective Question
1114311011 2.0 0.00

Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).
Assertion (A) : Infants, according to dynamic systems theory, assemble motor skills for perceiving and acting.

Reason (R) : In this theoretical framework, perception and action are inherently interconnected, emphasizing the integration
of motor skills in the process of perceiving and acting.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4_(A) is not correct but (R) is correct.
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Al:1

A2:2

A3:3

Ad:4

Objective Question
1214311012 2.00.00

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A): Heritability of intelligence does not vary, depending on the methods used.

Reason (R): Most researchers believe that the heritability of intelligence is between 60% and 80%

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4_(A) is false but (R) is true.

Al:1

A2:2

A3:3

Ad:4

Objective Question
1314311013 2.0 0.00
Separation distress is most common around of age.

1. 12 Months
2.3 to 5 Months
3. 4 to 6 Months
4 6 to 8 Months
Al:1

A2:2

A3:3

Ad:4

Objective Question
14/ 14311014 2.0 0.00
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Given below are two statements:
Statement (1): Adaptation involves adjusting to new environmental demands.

Statement (1) It allows organisms to cope with challenges, exploit new opportunities, and increase their chances of survival
and reproduction in a changing environment.

In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement (1l) is false.
4. Statement (1) is false but Statement (1) is true.

Al:1
A2:2
A3:3
Ad:4
Objective Question

1514311015 2.0 0.00

In the first six months of human infant development, emerge, these are observed in both humans
and animals.

1. basic emotions

2 secondary emotions
3. tertiary emotions
4_confused emotions

Al:1

A2:2

A3:3

Ad:4

Objective Question

16/ 14311016 2.00.00
Divergence is a concept discovered by

1. Paul Bailey
2_Charles Darwin
3. Frank Sulloway
4_Robert Plomin

Al:1

A2:2
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A3:3

Ad:4

Objective Question
1714311017 2.0 0.00

In . the boy child is usually favoured over the girl child and this leads to unhealthy sibling rivalry.

1. India

2 United States
3. Japan

4. Africa

Al:1

A2:2

A4 :4

Objective Question
1814311018 2.0 0.00
Character is also dependent on a person's

1. Educational development
2. Social development

3. Personality development
4_Moral development
Al:1

A2:2

A3:3

A4:4

Objective Question
1914311019 2.0/0.00
The is that part of the personality that is charged with dealing with reality.
1.id
2.ego
3. super ego
4_behaviour

Al:1

A2:2

A3:3
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Ad:4

Objective Question

20 14311020
Match List-l with List-ll
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List-l

List-ll

Child Development

Nature of development

(A).Early Age

(1). Establishing independence, pursuing education and career goals, and forming relationships.

(B). Teenager

(II). Rapid physical, cognitive, and emotional development

(C). Late Adulthood

(1INy. Physical and hormonal changes

(D). Early Adulthood

(V). Adjustments to changes in health and lifestyle.

Choose the correct answer from the options given below:

1.(A)- (1), (B)- (1), (C)
2.(A)-(, (B)- (N, (C)
3. (A)- (), (B) - (), (C)
I

- (1), (D) - (IV)
-(IV), (D) - (lll)
- (

),
(IV), (D) - (Il1)

4. (A)- (I, (B) - (), (C) - (IV), (D) - (1)

Al:1

A2:2

A3:3

A4 :4

Objective Question
2114311021
Children tend to share

1. relatives

2 parents

3. teachers

4 friends

Al:1

A2:2

A3:3

Ad:4

Objective Question

the values, attitudes and beliefs of their
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2214311022 2.0 0.00
During the Preschool years, greater emphasis is placed on fostering the development of

1. Sports skill and maths
2_Motor skills and the brain
3. Fine motor skill and intelligence
4 Vocabulary skill and language
Al:1
A2:2
A3:3
A4 :4
Objective Question

2314311023 2.0/0.00

Peer relations among children is ane of the most important sources of emotional and social learning.

1. day care

2. play home school
3. preschool
4_kinder garden
Al:1

A2:2

A3:3

Ad:4

Objective Question
2414311024 2.0 0.00
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Match List-l with List-ll

List-l List-ll
Piaget's Stages of development Changes
(A). Sensory motor (). Animism
(B). Pre-operational (II}. Intimate behaviour
(C). Concrete operational (II). Reversibility
(D). Formal operational (IV).Creative Thinking

Choose the correct answer from the options given below:

1 (A)- (1), (B) - (), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (I), (C) - (), (D) - (V)
3. (A) - (1), (B) - (N, (C) -

(IV), (D) - (11)
4.(A)-(Ill), (B) - (IV), (C) - (1), (D) - (1)
Al:1
A2:2
A3:3
A4:4

Objective Question

2514311025
Given below are two statements:

2.0/0.00

Statement (l): Growth is slower than in the preschool years, but steady, with growth spurts in the later stages of childhood.

Statement (1) The reason for the slow but steady growth in later childhood is the gradual development of the human body,
with growth spurts occurring during puberty.

In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement (11) is false.
4. Statement (1) is false but Statement (1) is true.
Al:1
A2:2

A3:3

A4:4
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Objective Question
2614311026 2.0 0.00

Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A). Some 9-year-old children may experience the beginning of puberty.

Reason (R): Puberty onset can vary, and later signs may manifest in children around the age of 18.

In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4_(A) is not correct but (R) is correct.

Al:1
A2:2
A3:3
Ad:4

Objective Question
27 14311027 2.0 0.00

Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).

Assertion (A) : Fertilization is the process of combining male and female gametes, leading to the formation of a zygote and

initiating the development of a new individual.

Reason (R) : Puberty, the onset of reproductive maturity, is not directly related to fertilization but is associated with the
maturation of the reproductive system and activation of hormonal processes.

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).
3. (A) is true but (R) is false.

4_(A) is false but (R) is true.

Al:1

A2:2

A3:3

A4 :4

Objective Question
2814311028 2.0/0.00
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How do the smoothness and strength of

1. Motor skills

2. Technical skill

3. Physical Skill

4. Vocabulary skill

Al:1

A2:2

A3:3

Ad:4

Objective Question
2914311029

The Operations are the foundation upon which more abstract intellectual operations can be built.

1. Solid

2. Indeterminate

3. Concrete

4. Insubstantial

Al:1

A2:2

A3:3

A4 4

Objective Question
3014311030

Identify the profession who posits that the augmentation of cognitive capacity during childhood aligns with significant and

transformative changes?

1. Scientists

2. Psychologist

3. Industrial scientist
4_Physicists

Al:1

A2:2

A3:3

A4 4

Objective Question
3114311031

810_16_S1_cec24_ed03_1-50.html

manifest in 9-year-old children as compared to when they were younger?
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At the age of 8, continues to improve.

1. Reading skill
2. Writing Skill

3. Listening skills
4. Speaking skill

Al:1
A2:2
A3:3
A4 :4

Objective Question
3214311032
Given below are two statements:

Statement (1) Emotional disturbance refers to a condition where an individual exhibits emotional or behavioral responses
that significantly deviate from the norm, impacting their daily functioning and relationships.

Statement (I1): Emotional disturbance can manifest in various forms, such as anxiety, depression, aggression, or disruptive
behavior, and it often requires careful assessment and appropriate intervention for effective support.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (1) is incorrect.
4 Statement (1) is incorrect but Statement (1) is correct.
Al:1

A2:2

A3:3

Ad:4

Objective Question
3314311033
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Identify the dimensions of development of a child

(A). Physical development
(B). Economical development
(C). Language development

(D). Moral development

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (C) and (D) only.
3. (A), (B), (C)and (D).
4_(B), (C) and (D) only.
Al:1
A2:2
A3:3

A4 4

Objective Question
3414311034

The social concern of school-age children typically centres on the pursuit of acceptance and the avoidance of rejection by?

1. Peers

2. Swells

3. Tribunals

4_Judge

Al:1

A2:2

A3:3

Ad:4

Objective Question
3514311035

Family plays a vital role in their child's learning and

1. political
2_educational
3. economical
4 social

Al:1

810_16_S1_cec24_ed03_1-50.html

development.
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A2:2

Objective Question

3614311036

Raj says he does not want to skip school because he knows he will be punished, what type of moral development does this

show?

1. Pre-conventional
2. Post conventional
3. Conventional

4. Super conventional
Al:1

A2:2

A3:3

Ad:4

Objective Question

3714311037

Match List-l with List-ll

810_16_S1_cec24_ed03_1-50.html

List-l

List-lI

Stages of kohlbergs Moral development

Description

(A). Stage 1 (). Universal principles

(B). Stage 2 (Il). Obedience and punishment orientation
(C). Stage 4 (lll). Maintaining social order and authority
(D). Stage 6 (IV). Individualism and exchange

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (1), (C) - (1), (D) - (V)
2.(A)- (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (IV), (B) - (1), (C) - (I, (D) - (1)
4. (A) - (I, (B) - (IvV), (C) - (1), (D) - (IN)

Al:1

A2:2
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A3:3

Ad:4

Objective Question

3814311038 2.0 0.00
Given below are two statements:
Statement (1). Success leads to a negative attitude.
Statement (Il):. Failure accelerates the self-confidence.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.
2. Both Statement (1) and Statement (I1) are incorrect.
3. Statement (1) is carrect but Statement (1) is incorrect.
4. Statement (1) is incorrect but Statement (1) is correct.
Al:1
A2:2
A3:3
A4 :4

Objective Question

3914311039 2.0 0.00

Cycling improves control and in children

1. plasticity
2. immobility
3. mobility
4_ sanctity
Al:1

A2:2

A3:3

Ad:4

Objective Question
40 14311040 2.0 0.00
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Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) - In India, a child typically starts formal education around the age of 3 or 4 years, entering Kindergarten.

Reason (R) : Introducing children to a structured learning environment at a young age helps in their early cognitive

development.

In light of the above statements, choose the correct answer from the options given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

3. (A) is true but (R) i1s false.
4 (A) is false but (R) is true.

Al:1

A2:2

A3:3

A4 :4

Objective Question

4114311041

Excessive exposure to Sun and smoke may increase the risks of children developing medical conditions such as

1. Heart problem
2 Diabetes

3. Tuberculosis
4 Cancer

Al:1

A2:2

A3:3

Ad:4

Objective Question
42/14311042
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Match List-l with List-ll
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List-l List-lI

STAGES OF COGNITIVE DEVELOPMENT AGES
(A). Concrete operational (). 0-2 years
(B). Sensory motor (II). 2-7 years

(C). Pre-operational

{(llN. 7-11 years

(D). Formal operational

(IV). 12 years above

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (IN), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (1), (D) - (11
4. (A) - (1), (B) - (1IV), (C) - (1), (D) - (IN)
Al:1
A2:2
A3:3
Ad:4

Objective Question
4314311043

Find out the appropriate ecosystem which encompasses the interaction of the different microsystems?

1. Exosystem

2 macrosystem

3. mesosystem

4_chronosystem

Al:1

A2:2

A3:3

Ad:4

Objective Question
4414311044
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Given below are two statements:
Statement (1) Scaffolding refers to the structure provided by other leamers while learning a skill.

Statement (1): Scaffolds never help students understand concepts and remember details, they also allow teachers to focus
on specific areas of instruction.

In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement (11) is false.
4 Statement (1) is false but Statement (1) is true.

Al:1
A2:2
A3:3
A4 :4

Objective Question
4514311045

Children improve their problem-solving ability through

1. education

2 television

3. social interaction
4_gamification

Al:1
A2:2
A3:3
Ad:4

Objective Question
46 14311046

Given below are two statements:

Statement (1); According to the Ecosystem theory, if parents and teachers have a good relationship, this should positively
shape the child's development.

Statement (1) The child must be active in his/her learning, both academically and sacially.
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (I1) are incorrect.
3. Statement (1) is correct but Statement (I1) is incorrect.
4 Statement (1) is incorrect but Statement (1) is correct.
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Al:1

A2:2

A3:3

Ad:4

Objective Question

47 14311047

Computer technology and the internet, is now an

1. integral part of agriculture
2_integral part of playing games
3. integral part of education
4_integral part of communication
Al:1

A2:2

A3:3

A4 :4

Objective Question

4814311048

Given below are two statements:

Statement (1): Comorbidity often occurs in mental health, where individuals may have no multiple disorders simultaneously.

Statement (Il): Diagnosing and treating individuals with multiple disorders is challenging due fo the intricate interactions

810_16_S1_cec24_ed03_1-50.html

between conditions, influencing severity, progression, and treatment response.

In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2 Both Statement (1) and Statement (1) are false.
3. Statement (1) is true but Statement (l1) is false.
4 Statement (1) is false but Statement (I1) is true.
Al:1
A2:2

A3:3

Ad:4

Objective Question

4914311049

file:///C:/Users/Administrator/Downloads/810 16 S1 cec24 ed03/810 16 S1 cec24 ed03 1-50.html

2.0 0.00

2.0/0.00

2.0/0.00

21/22



5/20/24, 11:28 PM 810_16_S1_cec24_ed03_1-50.html

Wide exposure better choices for the children as they grow.

1. hinders

2. prevents

3. promotes

4. represses

Al:1

A2:2

A3:3

A4 4
Objective Question

5014311050

Children of age 1 to 3 years can be classified as being in

1. Isolation stage
2_Late childhood

3. Middle Childhood
4_ Early childhood
Al:1

A2:2

A3:3

A4 :4
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